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Company

Name Id Dept
123456 | Marketing
654321 | Design
556885 | Accounting

Jerry
Paul
Andy

Jack | 551447 |Inspection
Mandy | 564235 | Design
Sandy | 112245 | Accounting
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(=) mraiamigsim? [54]
public class testl {
public static void main(String[] argv){
inti =86, J;
j=(++) +i+1;

System.out.printin(j);

}
(=) mraiamigsim? [54]
public class Main {
public static void main(String[] args) {
inti,x=0;
for(i=1;i<=9;i+=2){
X=X+3;

System.out.print(x);

}
(z2) mraiEhegssrm? [54]
public class Main {
public static void main(String[ ] args) {
int =0, j=0, count=0;

for (i=1; i <= 3; i++)

{
for (= 1;j <=1i; j++)
count += 2;
count -= 3;
}

System.out.println(count);

1}

(2) M7 Etgagsie? [54]
class Ext {

int i;
void set() {i*=2;}
}
public class Main extends Ext{
void set() {i +=3; }
void set(int v) {
set(); super.set(); i -= v;
}
public static void main(String[] argv) {
Main m = new Main();
m.set(8);
System.out.print(m.i);

}
() mrimigssir? [54]

class A { A() { System.out.print("A"); } }
class B { B() { System.out.print("B"); } }
class C extends B { C() System.out.print("C"); } }
public class Main {
public static void main(String[] args) {
B b = new C();




